
1. Daily Calculations Questions
1 2 3

54 – 6 = _ + 35 = 50 _ + 40 = 250

½ of 32 = 60 divided by 10 = 840 + 80 =

9 x 2 = 896 - 100 = 796 – 248 =

30 – 10 – 20 = 12 x 4 = 60 divided by 6 =

80 divided by 10 = 50 x 2 = 9 x 6 =



1. Daily Calculations Answers

1 2 3

54 – 6 = 48 15 + 35 = 50 210 + 40 = 250

½ of 32 = 16 60 divided by 10 = 6 840 + 80 = 920

9 x 2 = 18 896 - 100 = 796 796 – 248 = 248

30 – 10 – 20 = 0 12 x 4 = 48 60 divided by 6 = 10

80 divided by 10 = 8 50 x 2 = 100 9 x 6 = 54



2. Daily Calculations Questions

1 2 3

8 + 7 + 8 = ½ of 18 = 100 – 18 = 

17 + 3 = ? + 90 = 140 426 + 100 =

70 – 30 – 20 = 2 x 100 = 15 x 2 = 

49 + 1 = 2/3 of 15 = 25 + 25 = 

6 x 3 = 741 – 193 = 2/6 of 60 =



2. Daily Calculations Answers

1 2 3

8 + 7 + 8 = 23 ½ of 18 = 9 100 – 18 = 82

17 + 3 = 20 50 + 90 = 140 426 + 100 =346

70 – 30 – 20 = 20 2 x 100 = 200 15 x 2 = 30

49 + 1 = 50 2/3 of 15 = 10 25 + 25 = 50

6 x 3 = 18 741 – 193 = 548 2/6 of 60 = 20



3. Daily Calculations Questions

1 2 3

3 x 2 = ? X 8 = 16 62 – 24 =

76 – 25 = 256 – 48 = 746 + 14 =

6 x 10 = 6 x 4 = 2/3 – 1/3 = 

65 + ? = 100 30 + 20 + ? = 60 2/5 of 35 =

½ of 30 = 60 divided by 6 = 48 divided by 8 =



3. Daily Calculations Answers

1 2 3

3 x 2 = 6 2 X 8 = 16 62 – 24 = 38

76 – 25 =51 256 – 48 = 208 746 + 14 =760

6 x 10 = 60 6 x 4 = 24 2/3 – 1/3 = 1/3

65 + 35 = 100 30 + 20 + 10 = 60 2/5 of 35 = 14

½ of 30 = 15 60 divided by 6 = 10 48 divided by 8 = 12



4. Daily Calculations Questions

1 2 3

40 divided by 5 = 37 - ? = 20 21 divided by ? = 7

16 + 80 = ¼ of 40 = 4/7 + 2/7 =

7 x 5 = 2/7 + 1/7 = 940 – 70 =

? – 20 = 50 2/7 – 1/7 = 2/3 of 21 =

12 divided by 2 = 7 x 4 = 372 – 104 =



4. Daily Calculations Answers

1 2 3

40 divided by 5 = 8 37 - 17 = 20 21 divided by 3 = 7

16 + 80 =96 ¼ of 40 = 10 4/7 + 2/7 = 6/7

7 x 5 =35 2/7 + 1/7 = 3/7 940 – 70 = 870

70 – 20 = 50 2/7 – 1/7 = 1/7 2/3 of 21 = 14

12 divided by 2 = 6 7 x 4 = 28 372 – 104 = 268



5. Daily Calculations Questions

1 2 3

4 x 3 = 39 divided by 3 = 36 + 94 = 

1/3 of 60 = 532 – 80 = 8/10 – 1/10 =

45 – 15 = 26 + 150 = 35 x 2 =

80 divided by 10 = 50 x 3 = 421 – 84 =

18 + 42 = 642 + 9 = 96 + 9 =



5. Daily Calculations Answers

1 2 3

4 x 3 = 12 39 divided by 3 = 13 36 + 94 = 130

1/3 of 60 = 20 532 – 80 = 452 8/10 – 1/10 = 7/10

45 – 15 = 30 26 + 150 = 176 35 x 2 = 70

80 divided by 10 = 8 50 x 3 =150 421 – 84 = 337

18 + 42 =60 642 + 9 = 651 96 + 9 =105


